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Overview

The X723 mentions that the 719717 is like »aX (against X27) in the six disputes of "y
a"ap. Our nooIn first cites different views as to what the '7"»%' in ®"v>' stands for,
and then discusses why other cases, where the 75%:7 is like 2R, are not mentioned.
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»"w4 explained that the 7'"»% of 2"v> stands for 1WHR» TR S172.
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And the n'"1 explained that the 7'"%% of 2"v> refers to the days of 77752 in which
she sees no blood, that they are not included for the counting of her ;72%1.
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And the X31271 "12 explain that the 7"%% of "y refers to the dispute in %> p=p
nyw, regarding a case where it is —
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(Not) possible but he has no intent to derive benefit, where the ;72%:7 is like M2x.

We have here three views regarding the 7"17; according to >"w1 it is Yo&» T °n, according to
the n" it is "31 77°% 77, and according to the 711271 12 it is T192p X9 WwoR.® MooIn explains that
there is no way to verify the correct interpretation from the Xna.
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15"y 572,
2 7707 jn it is permitted to carry in a Man which is surrounded by walls (mx°n) on three sides. However the oon
required that (in order to carry in such a man that) one should place either a beam across the opening of a ™an or by
placing a °n (a slat of wood) by the side of the »an7 nno. The dispute is whether it is permitted to carry in this ™2n if
the °n? was not placed their specifically for this purpose but it just happened to be there; according to *aX it is 0
to carry in that »1an, and according to X271 it is MoOR, and the 71277 is like »ax.
3 A woman who gives birth is 7xnv for either seven days (for a boy) or fourteen days (for a girl) whether she sees
blood or not. A woman who is a (72173) 721 must count seven consecutive ‘clean’ days in order to become 77770, The
case here is a woman who gave birth while she was counting her seven clean days and she did not see any blood
during or after the birth; the issue is, are these (seven or fourteen) days counted as ‘clean’ days and she becomes
7w (from 21 kM) even during her seven or fourteen days of nxmv (the view of X27), or do we say that (even
though) these (seven/fourteen) days do not disrupt her previous counting, but they cannot be part of her seven clean
days, rather she must wait after the seven/fourteen days and resume her counting (assuming that no o7 was seen in
between) (the view of *»aR). MpoIn maintains that the 71577 here is like »ax.
4 The w"wn deletes this word 'X?', and the text should read 11972p X921 wox
3 The issue there is regarding deriving benefit from a forbidden source where the person has no intent to derive the
benefit but it is possible for him to remove himself from this place whereby he will not derive benefit. For instance
he is passing a place where there is the smell of incense offered for 1"v. He can go on a different path ("wsR),
however he has no interest in smelling the incense (7125p &?1), but perforce if he goes this way he will smell it. 27
forbids it (he must take another way); »aX permits it.
¢ See ‘Thinking it over’
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And nevertheless the expression a'"ap »"¥%2 »aR7 7NN XNOYM was  not
mentioned elsewhere (besides here) except for nyT» X>@ wINv (the 7" of 2"v)

and any 7Y (the 1™y of 2"y ©"y), therefore we cannot be sure what the 7"n% of 2"xp 2"
stands for.

mooin asks:
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And if you will say; why do we not also count a seventh dispute where the 1377
is like »aX regarding the case where the watchman of a cow was negligent in his

watching and the cow went out to pasture and died normally, where -
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»aR in name of 7729 ruled that the watchman is liable, and X239 in the name of

727 ruled that he is exempt from liability, and the 712%:7 is like 2. We know that

the 17257 is like »ax -
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For the X713 concludes, ‘and the 72557 is 21182 12191 7¥°We2 N0 is 29°7°, as the

' explained it. This indicates that the 7597 is like »2x. However madin cautions -
= NOYNY 702 XNaYNI 21N XY 09990139

However in our texts in is not written in the aforementioned dispute, ‘and the

$72957 is X"2002nn is 2°n°, which puts somewhat of a damper on the previous proof -
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But nevertheless the 35712 wrote that in the aforementioned case the 73917 is like
"R, and it (2’7 D1IR2 DO YWD N NN) is also written in our text, regarding

the case where one deposited money by his friend -

— 105)39IN7 NOYINT XTIV
in the incident of a ‘myrtle branch hut’, where the X3 concludes 7¥°wn2 102 1N XN37
21 012 100, which proves that the 719%7 is like 2. The question remains why is this not
mentioned among the disputes where the 73777 is like »ax?!!!

" If a watchman is negligent and there was a loss due to his negligence he is obviously liable; however here, even
though he was negligent, however the loss (seemingly) was not caused (at all) by his negligence. The animal
(seemingly) would have died in any event. This may be referred to as o1Ra 1901 7¥°w2 90N (it began with
negligence, but it ended as an (unavoidable) accident. (See [however] ‘Thinking it over’ # 3.)
8 See ‘Thinking it over’ # 2.
9 See the 11 on 3,2 who writes regarding this dispute, 21 D182 190 7Y W2 INPAN RIPPORT IR K72 T2 X1,
10 The case there was where a watchman was given custody over money, and instead of burying it in the ground for
safekeeping (as is required), he placed them in a hut of myrtle branches. Eventually the money was stolen from the
hut. This is a case of 7v°w91 1n>°nn, for placing them in hut, is not a proper protection from fire; however it is 1910
onwa2 for thieves do not go searching in huts for money, nevertheless he is 27n.
' See ‘Thinking it over’ # 2
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N190IN answers:
=073 Y721 XYY AN KDY 7957 WD AN

And it seems that the explanation is that the reason the case of 121 72 ywd was

not written to be included in 2"ap %"y -
SN0 1213295 NNAYIN TN NPDOI T2 INNYT

because the "X7120 3129 later (after the time of the 2°X7nX) gave this ruling like
»y, but in the times of the X3 (the °XNR) it was unresolved as to what the 713717 is.

Summary
The 7""n% of ®"v> may be referring either to (°"w1) °n% or (n"1) 779 ", or X1 WHR

(%1121 °12) 12°n. Certain M227 °pod may have been inserted into the X723 by the
X120 j13°.

Thinking it over

1. Do *"wn, the n", and the X11271 °12 respectively maintain that in the other two
disputes (not in the one they maintain (respectively) is the 7"n% of 5"¥*) the 13917 is
not like »ax (and therefore it cannot be the 7"»% in 2"v°), or perhaps they all agree
that in all (three or two) cases the 1997 is like »ax, but nevertheless for some
(unspecified) reason!?® they are not the 7" of 9"v>?

2. Can we answer Moo question'® that the rule of o"sp 9"y is only regarding
disputes directly between &271 ™K themselves; however in the case of 72 yws they
are arguing what was the opinion of the master 727?1°

3. The fact of the matter is that X271 maintains "o (in the case of "1 72 ywn),!°
even if we agree that 01382 19101 AY*wD1 21N is 2°°1;!7 what therefore is the proof
that the 179977 is like »2R in the case of 21 72 yw», when all the X713 ruled was that
DIIX2 19101 YWD NN is 2>, but not regarding 72 ywo?! !

12 The w"w" amends this to read >X7120 13272 (instead of °X71120 731272). The *X71120 1321 lived shortly after the time of
the o°%7mX and they included in the X773 certain additions they deemed necessary.

13 Like the reason moo1n offers regarding 121 72 ywo.

14 See footnote # 8.

15 See x"wmn.

16 See footnote # 7.

17 See the &3 there in 2,77 »"2.

18 See nwn nom.
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